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EXERCISE 28
1. Complete the number potterns.

(o)

(b)

(d)

2. Complete the tobles.

(o) A tricycle hos 3 wheels.

(b) A squore hos 4 sides.

Number of
tricycles

1 2 3 5 6 7 8 9 10

Number of
wheels

3 12 27

Number of
sq uores

1 2 3 A ) 6 7 8 10

Number of
sides

A 20 5Z



(c) There ore 5 stomps in o set.

(d)

3. Multiply.

Number of
5er5

1 2 3 4 5 6 7 8 J 10

Number of
stomps 5 20

X 1 2 5 4 5 o 7 8 q 10

3 18

4 1')

q 40

'10 50

(o) 5x2 = (b) 4x4=

(c) 9x3 = (d) 3x6=

(e) 6x10= (f) 2x8=

(g) 7xS = (h) 10x1=

(i) 4,8 - (j) 5x7=



4. Comolete the number sentences.
{
ff

fl

4x

36- /t-

{ 6;-=4
d-t .,,-,

K.-19-19:---l

) 3x =24

{ z+*l =

{--- ,i-:rlt K-s " =3s];

\?ti: l \-::r-L----l

5. Divide.

(o) 36-r 4 = (b) 45*5=

(c) 30+10= (d) 16*2=

(e) 21 +-3 = (f) 20*4=

(s) 30-s - (h) 12*3=

(i) 12 :2 = 0) 12-4=



EXERCISE 29
1. Complete the multiplicotion sentences.

(o) (b)

6x5=
6x6=

8x6=
6x8=

(c)

(e)

(d)

6x7 =

(f)

9x6=
6x9=



2. Muitiply.

9

iiiiiiiiii



EXERCISE 30
1. Join

The

(1)

(2)

(3)

(4)

rq)

(6)

eoch poir of motching
line will poss through

ccrds with
o letter.

o stro ight line.

5

B

5

a

9

lZ '- O

18+6

60:6

30+6

54+6

a

(7)

Whot cqn you sometimes see in the sky ofter the roin?

Write the letters in order from questions 1to 7 to find out'

48+6 1

7

10

(1) (2)

10

(4) rq) (6) (7)



2. Multiply or divide.

1x6 =

5 x6 =

7 x6 =

6x6 =

6x9 =

6x10=
6x4 =

6x2 =

12-
+/ +

6-
24-
60-
54-
30+

18-

0-

c,-
a-

A_

A_

A_

A_

Colour the spoces which contoin the onswers to get o
p rctu re.



EXERCISE 31

1. Complete the cross-number puzzle,

ACROSS DOWN

A. 45x6
B. 52x6
C. 6x9
D. 6 x17
E. 6x68

B.

D.

F.

38x6
5x6

24x6
6x35
6x48



2. Find the product for each of the following.

Colour the spoces which contoin the onswers.
You will help the lioness find her cub.

306
x6

450
x6

574
x6

791
x6

800
x6

923
x6



EXERCISE 32
1. Divide.

-\-o/15

What do you coll o figure thqt hqs 5 sides!

Write the letters which motch the onswers to find out.

10R4 6R2 12R3 8R5 8R1 14 16 9R5



2. Find the quotient cnd remoinder for eoch of the following.

Quotient:
Remoinder:

Quotient:
Remo inder:

Quotient:
Rem o inder:

6Foo

Quotient:
Remoinder:

6Eos

Quotient:
Remoinder:

Quotient:
Remoinder:

6W

Quotient:
Remoinder:

6V1s

Quotient:
Remoinder:

6Tez'

Quotient:
Remoinder:

15



EXERCISE 33
1. A shopkeeper sold

How much money
6 colculotors ot $45 eoch.
did he receive?

2. Our heort beots 72 times o minute.
How mony times does it beot in 6 minutes?

3. A vegetoble seller pocked 153 tomotoes into bogs of
6 ecch.
How mony bogs were there?
How mony tomotoes were left over?



4. Mr Lin sold
Eoch bunch
Flow much

462 flowers in bunches
of flowers wos sold for
money did he receive?

of 6 eoch.

5. Abdul cut o wire 408 m long into pieces.
Eoch piece wos 6 m long.
He sold 32 of these pieces.
How mcny pieces were left?

.17



6. Mrs Roio used 6 boxes of coffee bogs in 4 weeks.
There were 20 coffee bogs in eoch box.
How monv coffee boqs did she use in 1 week?

7. Peter hqd 208 Moloysion stomps ond 186 Indonesion
stomos for sole.
The stomps were mixed up cnd sold in pockets of 6.

How mony pockets of stomps were there?
How mcnv stomDs were left over?

18



EXERCISE 34
1. Multiply.

{o1

19



Divide.
Then join the dots by following the order of the onswers.
You will complete the picture of o soil boot.

5)+/=

49+7=

63-7=

\4,-7-



3. Join eoch poir of motching cords with o stroight line,
The line will ooss throuoh o letter.

(1)
2x7

(2)
1O - 

-7

7
r?)

4x7

(4)
70+7

8x7

(6)

(7)
7 x7

(8)
35+7

Whot bird eots with its heod upside down?

Write the letters in order from questions 1to 8 to find out.

(1) (2) (3) (4) (s) (6) (t) (8)

21

2a

56

3

14

49

5

10



EXERCISE 35
1. Multiply.

Colour the spoces which contoin the onswers to find the
woy to the treosure.

80
x7

54
x7

39
x7

71

x7
62

x7
43

xl

98
x7

35
x7

76
x7

TREASURE



2. Multiply.

Which insect looks like it is proyingl

Write the letters that motch the onswers to.find out,

P-N
2821 574 672 3717 2296

315 4900
23

700
x7

145
x' 7

4578 1015



EXERCISE 36
1. Divide.

Then join eoch bclloon to the child with the correct onswer.

?n"-O 53"gl O1o-v

70R6



2. Divide.

Whot birds hove wings for swimming?

Write the letters which motch the quotients to find out.

110 13 65 155 19 114 88 102

25



EXERCISE 37
1. John jogged round the

How mony metres did
trock 7 times.400-metre

ho inn?

2. A poil holds 7 (, of woter.
A tonk holds 637 { of woter.
How mony poils of woter con the tonk hold?

3. Mrs Wong
How mony

poid $98 for the
kilogroms of fish

bosket of fish.
did she buy?



4. Mr Copol bought some books for $301.
Eoch book cost $7.
His wife helped him to corry 18 books ond
resf.
How mony books did he corry?

ne corneo fne

5. Mrs Lin pocked 875 g of sugor equolly
She put 5 of the bogs in o box.
How mony groms of sugor were there

into 7 bogs.

in the box?

27



6. Somod bought 7 plonks, eoch 3 m long.
He bought onother plonk 2 m long.
Find the totol length of the 8 plonks.

7. 84 children
There were
How mony

orrcngeo
5 boys in
g irls were

themselves into 7 equol groups.
eoch group.
thare nlfnnpfhor?



REVISION 4
1. Write the numbers.

(o) Five thousond, three hundred ond six

(b) Eight thousond ond five

(c) Ten thousond

. 2. Write the missing numbers in the following number
potterns.

(o) 4120,4220, 

-,4420

(b) s320,6320,7320,

(c) 263s,2640, 

-,26so3. Fill in eoch blonk with the word greoter or smoller.

(o) 3459 is 

- 

thon 3495

(b) 4056 is thon 4506

(c) 8197 is 

- 

thon 8201

4. Find the missing numbers.

(o) 3000+-=3800
(b) 4000+-+1=4081
(c) 5000+_=5008

29



5. Do these.

(o) 2000 - 8s0

(b) 9s0 + s0

(c) 523 x 7

(d) 720 + 7

(e) 400 - 2

(f) 700 x 2

6. Mingfo bought 42O red opples ond 180 green opples.

420
red opples

He sold 300 red opples ond

180
nraannnnta<

ruu green oppres.

Fitl

(o)

(b)

in the blonks.

Mingfo bought

He sold

opples oltogether.

opples oltogether.

opples left.

30

There were



7. 125 pupils in o school took swimming lessons.

11 more pupils joined in.
How mony pupils took swimming lessons oltogetherz

8. Mrs Chen spent $35 on meot qnd $12 on vegetobles.
How much less money did she spend on vegetobles thon on

meot?

9. Peter hos 15 ongelfish.
He hos 3 times os mony guppies os ongelfish.
How mony guppies does he hove?



10. Mr Li eorns $3000 o month.
He spends $22OO o month ond
How much money cqn he sove

soves the rest.
in 6 months?

11. Cik Zorino boked 600 pineopple torts for sole.
She pocked them into pockets of 6.
She sold 45 oockets.
How monv pockets were not sold?



EXERCISE 38
1. MultiDlv.



ffiW
MW

2. Motch.

.o
.54

ffi
6mW



EXERCISE 39
'1. Drow o stroight line to motch eoch question with its correct

cnswer.
The line will poss through o letter.

@
@
@
(_\
(]7

@
@
@
/a)t7
@

(1)

(2)

(4)

(s)

(6)

(7)

(8)

/q\

32x8

54x8

8x50

8x63

88x8

27 x8

8x36

8x14

92x8

a

@

@

Write the letters in order from ouestions 1 to 9 to find out
the messoge.

(s) (6)

35

(1) (2) r/"\ (4) (7) (8) rq)

WORK



2. Multiply ond use the onswers to complete the cross-number
puzzle below.

ACROSS

DOWN

A
46

x8
D

58
x8

F

249
x8

H
62

x8

55
x8

I

z)+
x8

B

803
x8

649
x8

E

744
x8

G
120

x8



EXERCISE 40
1. Divide.

Colour the sooces which contoin the onswers obove.

You will get o picture of o

8E8 s)67 8)7e

8 )88 8w 8 )e6

8 )36 8n1 sE3



2. Divide.

8w,

8w8)E28

B)Eso 8F62

8F02

814888lib3 aD4s

Write the letters which motch the onswers to find out the
messoqe.

12R7 66 93 R 4 61

120R2 75R2 46R4

106 R 2 94R2



EXERCISE 41

1. Mr Yong uses 185 litres of petrol in one month.
How much petrol will he use in 8 months?

2. A fruit seller sold 1 kg of gropes for $8.
He collected $96 oltogether.
How mony kilogroms of gropes did he sell?

3. Mr Li orinted 900 diories.
He pocked them equolly into 8 boxes.
How mony dicries were there in eoch box?
How monv diories were left over?

39



4. A florist hos '145

She hos 8 times
How mony more

yellow roses.
os mony red roses os yellow roses.
red roses thon yellow roses does she hove?

5. 8 pupils sold 272 concert tickets ot $3 eoch.
Eoch pupil sold the some number of tickets.
How much money did eoch pupil collect?



6. Mrs Rojo bought 4 boxes of doughnuts.
There were 6 doughnuts in eoch box.
She divided the doughnuts equolly
nrnnnn R nannla
How mony doughnuts did eoch person receive?

7. Mr Li filled
There were
How mony

8 boxes with 10 opples in eoch box.
4 nnnloc loft n',ar
opples were there oltogether?

41



EXERCISE

1. Multiply.

/-?=---J\\-_"r1 --/
,G'

.|,--__i 7
) g'.a

.-_-:\-\\.-.rt
'o\.ft

)--n'. t__l
- 

,----- --\.-J1_--_-.-
.c\t-

!:Y
) 9r10 7

7:
I
")# )I
)-n, i

----_:-_\\\\--rL--'
t(iLJ7 A

*#g
)3v z

RJN
a 9rt. t



2. Motch.

aq
8\,

.q

aq

.qet-t 54t:

43



EXERCISE 43
1. Multiply.

14
x9

21
x9

88
x9

63
x9

Colour the spoces which contcin the onswers.
You will help Mory find her woy home.

53
x9

72
x9

80
x9

99
x9

40
x9



2. Multiply.

M E

T)
XY

106
X9

zo+
X9

N

459
X9

523
X9

612
X9

l' o
784

X9
830

X9
947

X9

My work is interesting ond chollenging.
I meet o lot of people.

rg)'**
Whot is Mingfc's occupotion?

Write the letters which motch the onswers to find out.

7056 A523 954 4131 7470 2376 675 5508 4707



EXERCISE 44
1. Motch the socks ond join them with o stroight line.

lf you do it correctly, you will get 6 smoll triongles.

I

I
I
I

.J

2R7

27+9

I
I
I

I
I

riD

90-9

6R5

25+9

46



2. Divide.

Which bird hos 2 toes on eoch foot?

To find out, troce the poth by following the order of the

onSwers cDove.

s )sst eFsleFgE2s

sT2w

OO

eW6sf852



EXERCISE 45
1. Mr Chen bought 55

Eoch book cost $9.
Whot wos the totol

books for the school librory.

cost of the books?

2. There ore '108 pupils.
Mrs Wong divides them into groups
How mony groups ore there?

oT v-

3. Encik Ali sold 1 kg of prqwns for 99.
He collected $342 oltogether.
How mony kilogroms of prowns did he sell?



4. There were 249 boys ond 255 girls in o field.
They lined up in 9 equol rows.
How mony children were there in eoch row?

5. Osmon cut o rope 414 m long into pieces.

Eoch piece wos 9 m long.
He divided eoch piece into 4 equol ports.
How mqnv ports were there?

49



Mr Chen hod. 9 pocltets bf poper ploteli;,
There were 10 plotes in eoch' pockeL' ,.

25 plotes Wbre.r:lsed for,o.porty:, ,r ,:t.ir,:
How mony. plotes were left?

7. 4 men ond 5,wornen rslitojred thelrt6stof ,o:preserit eq,r.io lly'
The cost of the present wos $:ll7: , . l

How much did-eoc|r,of rthe?r: pciy? ,, r, , .,, ..:'



EXERCISE 46
How much money is there in eoch purse?



(o)

(b)

(c)

(d)

(f)

3.

(o)

(b)

(.)

(d)

(e)

(f)

(s)

(h)

(i)

Write eoch omount of monev in fioures.

Five dollcrs ond sixty-five cents

Ten dollors ond eight cents

Seventeen dollors ond seventv cents

Ninetv dollors ond twelve cents

Three hundred ond twentv dollors ond four cents

One thousond ond thirtv dollors

Write eoch omount of monev in words.

$0.80

$1.36

$6.44

$7.98

$23.20

$10.0s

$44.ss

$412

$3709



1. Write the missing numbers.

@ 
+$8.0s.

EXERCISE 47

2. Add.

(b)

(d)

@ 
+$2o.Bs,

(o) $24.Os + $7.2s (b) $30.60 + $4.s0
=

(c) $s6.3s + $12.80 (d) $12.8s + $40.ss

53



Add.

(oJ

615
+ 385

$6.1 s
$3.8s

2355
+ 760 ) /.ou

3090
+ 6395

$30.90
$63.9s

7315
+ 2685

$73.1 s
$26.8s



4. Add.

$3.80
$1.1 5

t;

$7.40
$8.9s

I
E

$1 1.ss
$ 6.0s

E
$31 .s3
$48.76

t-

$s6.39
$37.34

t_-

$78.22
$ 6.98

t^

c o aq.

$34.00

[- rt

$1 0.0s
$43.09

t-

qlq qq

$24.3s

ti
What cqn you get by dividing o squore into hqlves?

Write the letters which motch the onswers to find out.

$73.90 $43.8s $80.29 $4.95 $8s.20 $17.60 $93.73 $16.3s $s3.14

55



EXERCISE 48
1. Complete the bills.

$17.80
Soucepon

$10.70

Kettle
$12.90

Chopping boord
$3.15

T-(b) A knife(o) A soucepon

lodle

$

$

Totol $

A chopping
boord

Toto I

(c) A wok

A knife

Totol

$

$

(d) A towel

A kettle

Totol

$

$

(e) A knife

A lodle

A towel

Totol

$

$

$

(f) A wok

A kettle

A soucepon

Totol

$

$

$



2. Mr Wong hos $92.65 in the bonk.
He deposits onother $79.80.
How much monev does he hove in the bonk now?

3. Jim hos $62.05.
He needs $98.83 more to buy on electric cooker.
Whot is the cost of the cooker?

4. A rodio set costs $80.80.
It costs $98.70 less thon o television set.
Whot is the cost of the television set?



EXERCISE 49

2. Subtroct.

1. Write the missing numbers.

F+so l--lz's5-

@ 
-$234s,

(o) $14.20 - $9.0s (b) $7.20 - $3.1s

(c) $62.30 - $8.70
=

(d) $80 - $26.4s
=



3. S u btroct.

(o)

(b)

(.)

(d)

5640

- 390
$s6.40
$ 3.90

4280

- 1755
$42.80
$1 7.5s

6005

- tz+65
$60.0s
$14.85

5000

- 1485
$s0.00
$1 4.8s

59



$64.60
$27.40

$s0.00
$24.50

$60.0s
$43.90

$70.50
$ 7.05

$20.0s

- $ 3.s0
$32.00
$24.99

)+ | .5U $2s.60

- $ 9.7s
$27.80
$1 7.90

4. Subtroct.

What is fock's fovourite gome?

Colour the letters which contoin the onswers obove to find
out.

[@a',a F-[@ [ l@ql5-/ _ \ l\_-J ll > I .--./ l:-] \
LJ- L;LJ t::ljt --l [::t( " )

f o) l';\ G*'n fs3rrs) f-\lo1 iu\ ><ti /"'oll:!4 :'*Y t---J L--) L "-JT- ar
I .__-_. I $63.4s i I sz.or I I L_
LY'"! Lv-J L_r.t.J I srzss 

)



EXERCISE 50
1. Comolete the toble.

(o)

(b)

(c)

(d)

lhod Ibought Amount of money left

l-$sl

$1.6s

$19.s0

$24.80

$69.90

(e)



2. Weihuo bought o wotch ond o pen
The pen cost $16.90.
How much did the wotch cost?

for $60.25.

3. Mrs Lin spent $48.60 ot o supermorket.
She soent $3.55 more thon Mrs Wu.
How much did Mrs Wu spend?

4. The usuql price of o wotch is $70.
At o sole. it is sold for 547 .95.
How much cheooer is the wotch ot the scle?

62



I
I, EXERCTSE 51

1. Huiling bought o poir of shoes for $24.95.
She olso bought o shirt for $9.50.
She gove the shopkeeper $50.
How much chonge did she receive?

2. Sufen bought o boll ond o bot.
The boll cost $1.20.
The bot cost $2.60 more thon the boll.
How much did she spend oltogether?



3. Mory bought o pen ond o book.
She gove the coshier $10 ond received
r ne DooK cost $ /.55.
How much did the pen cost?

o cnonge or )2.u5.

4. Somy spent $3.80 on breokfost.
He spent $1.15 less on lunch thon on breokfqst.
He hod no money left.
How much monev did he hove ot first?



REVISION 5
1. The toble shows the prices of three refrigerotors.

Refrigerotor A Refrigerotor B Refrigerotor C

$203s $1400 $ 183s

Fill in the blonks.

(o) Refrigerotor C is 

- 

cheoper thon Refrigerotor
A.

t'h\ Pefrinprnfnr i< the rhpnnc<f

Write the numbers in words.
(c) s007

(b) 1043

2.

(c) ss60

3.

5.

6.

ln 5672, the volue of digit 5 is

In 3812, the digit 8 stcnds for

In 6840, the digit is in the tens ploce.

ln 4297, the digit is in the hundreds ploce.

Its volue is 

-.

65



7. Write the numbers.

8. Find the volue of eoch of the followinq.

(o) 6os3 --1l9-
(b) 3984 -4o ,

(c) 8107 + looo 
)

(d) 47gO -2oo 
>

9. Find the onswers by following the orrows.

Thousonds Hundreds Tens Ones

@@@ @@ @@@
@@@

ooo

Thousonds Hundreds Tens Ones

@@ @@
@



10. 2950 people visited on exhibition on Soturdoy.
3300 people visited the exhibition on Sundoy.
How mony more people visited the exhibition on Sundoy
thon on Soturdov?

11. After selling 905 kg of rice, Mr Ho hod 145 kg of rice left.
How monv kilooroms of rice hod he ot first?

12. There ore 7 boxes eoch contoining 50 oronges.
How mony oronges ore there oltogether?



13. A fruit seller hod 928 oronges.
16 of them were rotten.
He pocked the rest into boqs of 8.
How mony bogs of oronges were there?

14. Mrs Huong eorns $2500 o month.
She spends $500 on food ond $1250 on others.
She scves the rest of the money.
How much does she sove o month?
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REVISION 6
1. Fill in the blonks.

(o) 1 more thon 4069 is

(b) 10 more thon 1390 is

(c)

(d)

is 10 less thon 6029.

is 100 less thon 5000.

2. Write the missing numbers.

(o) 100+-=1000
(b) 4o2+-=1000
() a329+_=5000

3. Do these.

(o) 1988 + 650 =

(b) 4010 - 1256 =

(c) 684x9=
(d) 44O*9=

4. (o) The difference between two numbers is 50.
lf the smoller number is 24, whot is the other number?
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(b) The product of two
lf one number is 9,

numbers is 72.
whot is the other number?

5. 6 children bought o present for $42.
They shored the cost equolly.
How much did eoch child pov?

6. Minghuo's weight is 52 kg now.
He wos 8 kg lighter lost yeor.
Whot wos his weight lost yeor?



7. After selling 1325 sticks of sotoy, Mr Li still hod 576 sticks
of sotoy left.
How mony sticks of sotoy hod he ot first?

B. A bosket of rombutons weighs 150 kg.
It is 112 kg lighter thon o bosket of durions.
Find the weiqht of the bosket of duriqns.

9. A fruit seller pocked 108 opples into bogs of 5.
How mony bogs were there?
How mony opples were left over?

11



10. The totol weight of o textbook ond 8 notebooks is 800 g.
The weight of the textbook is 200 g.
lf the notebooks ore of the some weight, find the weight of
eoch notebook.

11. After buying 9 kg of crobs, Mrs
How much money did she hove

Lin hod
ot first?

$110 left.
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